

$\{1, 2, \dots, n\} \rightarrow \{1, 2, \dots, n\}$ $\{1, 2, \dots, n\} \rightarrow \{1, 2, \dots, n\}$ $\{1, 2, \dots, n\} \rightarrow \{1, 2, \dots, n\}$ $\{1, 2, \dots, n\} \rightarrow \{1, 2, \dots, n\}$

$\vec{u} = (u_1, u_2, \dots, u_n) \rightarrow \vec{v} = (v_1, v_2, \dots, v_n) \rightarrow \vec{w} = (w_1, w_2, \dots, w_n)$

$\frac{u_1 + v_1}{2} = \frac{1 + 1}{2} = 1$ $\frac{u_2 + v_2}{2} = \frac{1 + 1}{2} = 1$ $\frac{u_3 + v_3}{2} = \frac{1 + 1}{2} = 1$

$\{1, 2, \dots, n\} \rightarrow \{1, 2, \dots, n\}$ $\{1, 2, \dots, n\} \rightarrow \{1, 2, \dots, n\}$ $\{1, 2, \dots, n\} \rightarrow \{1, 2, \dots, n\}$

$\frac{u_1 + v_1}{2} = \frac{1 + 1}{2} = 1$ $\frac{u_2 + v_2}{2} = \frac{1 + 1}{2} = 1$ $\frac{u_3 + v_3}{2} = \frac{1 + 1}{2} = 1$

$an + bn + cn = f$ $9v = \frac{144}{\omega} \Rightarrow 9\omega a + \omega b + c = f$ $\omega b + c = 19$ $b = 1$ $c = -1$

$a = \frac{1}{\omega} v - \frac{1}{\omega} c = \frac{1}{\omega} \cdot \frac{144}{\omega} = \frac{144}{\omega^2}$ $\frac{1}{\omega} v - \frac{1}{\omega} c = \frac{1}{\omega} \cdot \frac{144}{\omega} = \frac{144}{\omega^2}$

$\frac{1}{\omega} v - \frac{1}{\omega} c = \frac{1}{\omega} \cdot \frac{144}{\omega} = \frac{144}{\omega^2}$

$\vec{u} = \vec{v} \rightarrow A_1 + \omega \vec{u} = B_1 + \omega \vec{v}$ $(A_1 + \omega \vec{u}) = (B_1 + \omega \vec{v}) = (B_1 + \omega \vec{v}) - (A_1 + \omega \vec{u})$

$A_1 + \omega \vec{u} = -\frac{1}{\omega} \vec{u} \rightarrow A_1 + \omega \vec{u} = -\frac{1}{\omega} \vec{u}$

$\Rightarrow A_1 = -\frac{1}{\omega} \vec{u} + (-\frac{1}{\omega} \vec{u}) = -\frac{2}{\omega} \vec{u}$

$\vec{u} = \vec{v} + \frac{1}{\omega} \vec{v} \rightarrow -\frac{1}{\omega} \vec{v} + \frac{1}{\omega} \vec{v} = \vec{u} \rightarrow \vec{u} = \vec{v}$

$$a_1 r = a + r d \quad a_1 r = a + r d \quad a_1 = a + r d$$

4

$$(a + r d)^r = \omega(a + r d) a + \mu(a + r d) \cdot a$$

$$\omega a(a + r d) + \mu a(a + r d) = \omega a_1 r + 1 \cdot a + \mu a_1 r + \mu a d$$

$$\Rightarrow \Lambda a_1 r + 1 \mu a d$$

$$(a + r d)^r = \Lambda a_1 r + 1 \mu a d \rightarrow a_1 r + r d^r + 1 \cdot a d = \Lambda a_1 r + 1 \mu a d$$

$$a_1 r + r d^r + 1 \cdot a d - \Lambda a_1 r - 1 \mu a d = 0 \rightarrow r a_1 r + \mu a d - r d^r = 0$$

$$\hookrightarrow r d^r + \mu d - r d = 0$$

$$\rightarrow \frac{-\mu \pm \sqrt{\mu^2 + 4(r d)}}{2 r d} = \frac{1 \mu \pm \sqrt{4 r d}}{1 r}$$

$$a_1 r = a + r d \rightarrow \frac{a_1 r}{d} = \frac{a}{d} + r = r + r$$

$$\frac{a_1 r}{d} = r = \frac{-\mu \pm \sqrt{4 r d}}{1 r}$$

$$r + \left(\frac{-\mu - \sqrt{4 r d}}{1 r} \right) = \frac{\mu d - \sqrt{4 r d}}{1 r}$$

$$a, b, c \Rightarrow b r = a c \quad \frac{b}{a} = \frac{c}{b} = r - b = a r$$

$$c, r a, \mu b \Rightarrow r a - c = \mu b - r a$$

$$(c = a r)$$

$$r a - c = \mu b - r a \rightarrow r a - c = \mu b$$

$$r a - a r = \mu b$$

$$\rightarrow a \neq 0$$

$$\Rightarrow r - r^2 = \mu b \quad (r + r)(r - r)$$

$$r - r^2 + \mu b = 0$$

$$r = \frac{-\mu b}{2}$$

$$\text{...}$$

$$\frac{2 a}{9 a} = r^2 = (-r)^2 = -4 r$$

$$\frac{a_1}{a_1 r} + \frac{a_1 r}{a_1 r} = \frac{a_1}{a_1 r} + \left(\frac{a_1 r}{a_1 r} = \frac{r^2}{a_1 r} \right) + \left(\frac{a_1 r}{a_1 r} = \frac{a_1 r}{a_1 r} = \frac{r}{a_1} \right)$$

9

$$\Rightarrow \frac{r^2}{a_1 r} + \frac{r}{a_1} = r \quad r^2 + r = r$$

$$r^2 + r - r = 0$$

$$\rightarrow r = 1$$

$$\hookrightarrow r = -r$$

$$\frac{a_1 r}{a_1 r} = \frac{a_1 r}{a_1 r} = \frac{a_1 r}{r} = \frac{1}{r} \quad r = -r$$

$$a_1^v = \int a_1^v$$

$$q_1 = a_1^v$$

$$q_2 = a_1^v$$

$$(a_1^v) = a_1^v \rightarrow a_1^v = v$$

$$a_1 = 1 \rightarrow v = \frac{1}{a_1}$$

$$a_1^v = v \rightarrow a_1^v = \frac{1}{a_1} = v \rightarrow a_1 = \frac{1}{v}$$

$$\frac{1}{v} - a_1 = \frac{1}{v} - \frac{1}{v} = \boxed{\frac{1}{v}}$$